
Question 1 

Question text 

The northwest corner rule requires that we start allocating units to shipping routes in the: 

Select one: 

highest costly cell of the table. 

middle cell. 

Upper left-hand corner of the table. 

Upper right corner of the table 

Lower right corner of the table 

Question 2 

Question text 

The transportation model of linear programming assumes homogeneous commodities, 

deterministic supply, deterministic demand, that every source is capable of shipping to every 

destination, and that there is a known per-unit shipping cost from every source to every 

destination. 

Select one: 

True 

False 

Question 3 

Question text 

A transportation model must have the same number of rows as columns. 

Select one: 

True 

False 

 


